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Que .0 i

Que. {} I

Que.02

Que. o?

{lJ Twc input NAND gate [2] Three inpui AND gare
Determine the truth table fbr the fbllowing staridard pos expression. l4j(A+B+CXA*B'+C)ii\.rB'+C' XA'+B+C')
-u*.lttg Bcoiean algelrra techniques, simpiif-v' fbirowing expression: Lzj
[AB' (C-BD)+A'B ' ]C

a)

b)

into octai nui-nber.
)z

ioilcwing expression

tzl

a)

b)

a l

b)

(t

t10 l
l8l

AB'CD +

[101
function: t6]

suitable t1l

Ansrver the following questions"
Describe the logical functions of the adder. encoder, decoder, multiplexer,
rnultiplexer, counter and re gister

a) l10l
de- l5l

B. TECH SEM. IV (BM&I) REGULAR EXAMII{ATION_ APRIL-JUNE 2016
2BM403: Digital Logic Circuits

TO'IAL MARKS: 60

TlIs Question PaPer has frvc sections. Attempt each secfion rn separate ansg,er book.
Figures on nght indicate marks.
Be precise and to the point in ansu'ering the desc.pcive questions.

SECTION: I

Answer the lbllowing questions.
Draw the logic sy.'mboi and c,;nstruct the irurh tabie tbr each
gates.

oR
Answer the followiug qu*stions.
Do as clirected:

f ilonvert the cieciilal rruntrer f50 irrto hexaclecir'ai ni,rmber
2.  Convef i  ( l  !0 i  i0 i l0 l )2  io  g ray 'coc le .
3. Convei l  the binar,r ,  number l0l0l  .001 i
4. Conveft (l 9 C Lt)r< ro i
5 .  C o n v e f i { i 0 0 0 0 1  l ) 2 i c (  ) , 0

Using Boolean algebra tec.hn!ques, sinrplifo
I ,  (A'+B) (A+B+D)D'

2 .  AC'+  gg 'P  +  AB 'C +  ACD

Answer the following questions.
i\{inimize the following expressions using Karnaugh map.

l .  X(A.B,C,D) = B 'C'D'  + A 'BC' l ) ,  +  Atsa 'D '  + A.B 'CD *
A'B'CD' . i  A'BCD' +.A,BCD' -r AB'CD'

_ ?,  F(A,B,C,D) = J- lNf(1,2.3,8,g,10,11,14){  d(7,15)
Define ; SSi, MSI, LSI and V[,SI

OR
Anstver the foilorving questions.
obtain the simplif ied expressions in sum of pi.oducts for the Boolean
F (A,B,C.D,E) =Z(0,1,4.5. I  6,17,21.25,29)
Drar'v arrd erplain the l,avout of three variable Karnaugh rnap using
example.

I l0 l
oi ' the foi iowing t4l

t1CII
L . - l

Que. {}3
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Que. 03 b) Choose the correcl answel '

i ' The output of'a logic gate is I rvhen all

(A) a NAI{D or an EX-OR
(C) an AND or an EX-OR

2. betemrine the values of A' B'

term A'+-B*C'tD equalto zero'

its inputs are at 0' the gate
(B) an OR or an EX-NOtrt
(D) a NOR or an EX-NOR
C. and D that mak'ethe sum

l 10 l
r,.i logic t5i

heip c''f i4l

(Ai I {B) 2 (c} 4 (D) 8
S. Wtrlctr of follorving are kno''vn as universal gates

(A) NAi\iIl a Nci" (B) AND & oFi' io xcR & OR' (D) None'

silc-uo:\iII

,Answer the follo'iving questions'

a) n*urriU* the firnctioi of Hutf-"Cder a'ri Fuli-aclrjer with the ltelp

symboi, logic diagram and trutli table '

b) Liru* un,J-enpfuii the rvorking of 3-lint'-to-8-lii-'e deccder with the

truth table.
SR

(A) A=1,8=0,C:0,D:0 (B) A=i,B:!,C^= 1'D=-0
ici n:o,g:l,c:o,D:o (D) A=i,B:o,c:i,D=1 :-
Applying DeMorgan s theorem to the expre55isn ABf ' we get

(Ai ;"E*e G) t- ;T(c; " * 
1+': f  111) A(B +.ci

The truth table for expression Ab+B',C has horv: many input combirrations?
A
T .

Que ,04

Que .04

Que. {}5

Que.05

e

Answ'er the fc!lorving questions'

a) Design a combinational circuit that accepts it three
' 

generat€s arr' outpllt binary number-equal to the square

b) bra* anci er'plain the warking of 4-bit parallel arider

example.

Answer the following quesiions"

a) what is ihe i'unclicn 
"oi-'tnirt registe r? Ilrirvi artd er;plain the

seliai in-seriai out shifi register' Assunte that the Legisier is

(al l  0s)'
b) Explain ho*'the fliP-floPs can

and basic counter aPPlications'

il{il
bit binary num'trer and 16l
of the input number'
with the help of suitable t'li

i i 0 l
working ot.4 bii t5l
init iaily cleared

be useii far the purpose of ireqi'renc;i division i5i

OR

F ig . l

END OF P,APER----"
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" t  
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a)
b)

Answer the followilrg questions' 1101

With necessary sketclTJxplain Bidirectional Shift Register with parallel load' t:i
Enlist the types of ,ouni*r. Expiain ring co'unter rvith necessarJ- tiragrarns' [5i

Write limitation of it-

Que.06 Answer the following questions r^r- ̂ -r ..^+^..r e,o { , 
ili}l

a) Draw ancl explain ihe basic oferation oiS-R' l'atch and gated S-R L'atch' t5l

t) Ilraw the state rliagram arrd siate table ior the t:irc'uits shown in Fig'l l5l


